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Dr. Cary Willard

Quiz 2A (20 points)




February 11, 1998

All work must be shown to receive credit.

1. (4 points) A rock with a density of 5.97 g/mL has a mass of 2.33 kg.  What is the volume of the rock in liters?

2. Acetone has the molecular formula C3H6O.  Answer the following questions about acetone and notice that they are related questions!!

a) (2 points) What is the molecular mass of acetone?

b) (3 points) How many moles of acetone are in a 3.29 gram sample of acetone? 

c) (3 points) How many molecules of acetone are in a 3.29 g sample of acetone? 

d) (3 points) How many atoms of carbon are in a 3.29 g sample of acetone?

e) (3 points) How many moles of oxygen are in a 3.29 g sample of acetone?

3. (2 points) Fill in the following table

Element name
Element symbol

Magnesium



Fe

Chemistry 115 - 3910




Name 






Dr. Cary Willard

Quiz 2B (20 points)




February 11, 1998

All work must be shown to receive credit.

1. (4 points) A rock with a density of 8.22 g/mL has a mass of 5.10 kg.  What is the volume of the rock in liters?

2. Acetone has the molecular formula C3H6O.  Answer the following questions about acetone and notice that they are related questions!!

a) (2 points) What is the molecular mass of acetone?

b) (3 points) How many moles of acetone are in a 5.14-g sample of acetone? 

c) (3 points) How many molecules of acetone are in a 5.14-g sample of acetone? 

d) (3 points) How many atoms of carbon are in a 5.14-g sample of acetone?

e) (3 points) How many moles of oxygen are in a 5.14-g sample of acetone?

3. (2 points) Fill in the following table

Element name
Element symbol

Manganese



Ni
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February 12, 1998

All work must be shown to receive credit.

1. (4 points) A pharmacist makes a 0.0335% tetracycline solution.  If a patient needs 5.00 mg of tetracycline, how many grams of the 0.0335% solution should be dispensed?

2. Phenol has the molecular formula C6H6O.  Answer the following questions about phenol and notice that they are related questions!!

a) (2 points) What is the molecular mass of phenol?

b) (3 points) How many moles of acetone are in a 4.29 gram sample of phenol? 

c) (3 points) How many molecules of acetone are in a 4.29 g sample of phenol? 

d) (3 points) How many atoms of carbon are in a 4.29 g sample of phenol?

e) (3 points) How many moles of oxygen are in a 4.29 g sample of phenol?

3. (2 points) Fill in the following table

Element name
Number protons
Element symbol

Sodium
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All work must be shown to receive credit.

1. (4 points) A pharmacist makes a 0.0221% tetracycline solution.  If a patient needs 5.00 mg of tetracycline, how many grams of the 0.0221% solution should be dispensed?

2. Phenol has the molecular formula C6H6O.  Answer the following questions about phenol and notice that they are related questions!!

a) (2 points) What is the molecular mass of phenol?

b) (3 points) How many moles of acetone are in a 2.97 gram sample of phenol? 

c) (3 points) How many molecules of acetone are in a 2.97 g sample of phenol? 

d) (3 points) How many atoms of carbon are in a 2.97 g sample of phenol?

e) (3 points) How many moles of oxygen are in a 2.97 g sample of phenol?

3. (2 points) Fill in the following table

Element name
Number protons
Element symbol

Chromium
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